LTI 4005

| Semester 3 Year LL.B. Examination, December 2018
CRIMINAL LAW - | (Indian Penal Code)

(2018 Batch)

Duration : 3 Hours Max. Marks : 80

Instructions : 1. Answer all five units.

2. One essay type question and a short note/problems is
compulsory from each Unit.

3. Figures to the right indicate marks.

(3] 4. Answer should be written either in English or Kannada
completely.

UNIT - |
Q. No. 1. a) Explain various types of punishments to which offenders are
liable under the Indian Penal Code. Marks : 10
23988603 Tor Ro&I0H RO, STOORYT AEBLBITIOE
FAAla) égﬁ«}a’i DTOD.
OR
Q. No. 1. a) Who are the possible parties to a crime ? Explain. Marks : 10
2,003 STOGE, R02I=e0d dimddo OBRTD ? D[ORD.

Q. No. 1. b) Write short notes on “Mens-Rea”. Marks : 6
“eITOORE WORAY [TV Wi OFO LT WS WBOW0.

® OR
Q. No. 1. b) Write short notes on “common intention”. Marks : 6

“dReres ?TT Wi OO §3TES 2TBOW0.

UNIT -l
Q. No. 2. a) When the right of private defence of the body extends to

causing death ? Marks : 10
AN FITEOD B, TeBT BFEEMON SOTCRI0ED R270RRBN
D) wmrbd NOdwrﬁw@@ ‘)
OR
P.T.O.
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Q. No. 2. a) Explai i dian Penal
) Cogeéln the law relating to abatement under In Marks  1g
W08 Dot RokIohd), LS DoredrEn HowoPar BORREEY
DO, ¥

Q. No. 2. b) ‘A’ an officer of the court of justice being ordered by the

court to arrest 'Y’ and after due inquiry, believing ‘Z’ to be s

arrests ‘Z'. Whether ‘A’ has committed any offence ? Marks :
SROIROADT RTOIRT ‘A’ > ¢ m0ineodEd, Y B

TENO SRBe SBZINTS, Ze¥ Fasdodd SEE FTD

23 Y 20w 89835 TRN6 Anmes AT R CIPNPEEAR

Cralopia SnamEede 9 5 i

OR &

A’ doctor in good faith communicates to a patient that he
cannot live, the patient dies in consequences of shock.
What is the liability of ‘A’ ? Decide. Marks : 6

‘A’ Qow FBD W), RN D) RS oW Z’O@D@“Q
5 Y 5 o
ATRBICNT SRS, € 0D 3R BRENID BT
BROTDIT. e ‘A’ mc%é&bdg{ QEDF 0R0.

Q. No. 2. b)

UNIT — 11
Q. No. 3. a) Explain the circumstances under which culpable homicide
amounts to murder. Marks : 10
Srsiental dc%s; QOR ROTIF N, BRICIRMOZT @owda’p’{
QIOD. &
' OR
Q. No. 3. a) Explain the offence of criminal force and assault. Marks : 10

WRoRT OB 302 B Speleplatvaviianieiiis)

Q. No. 3. b) ‘A’ builds a wall across a path along which ‘B’ has a right
of way. ‘B’ is there by prevented from passing. What is the
offence committed by ‘A’ ? Give reasons. Marks : 6
‘A’030 ‘B’ Wm@ordm wodn @%mr\ rﬁmzﬁoﬁoﬁg{ S&z ‘B’ LmaEs
ot B80S, ‘A’cdn odEs @a’oaqﬁdaig( dya@w%ﬁ? :pletao)
BRR.

OR
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Q. No. 3. b) ‘A’ with the intention of causing the death of a child of tender
years exposes it in a desert place. But the death of the child
does not ensue. Whether ‘A’ has committed any offence ?
SPAD  TODRT  LOW SRS ROCEIBDI0 Snruedow
emz%esﬁaod ‘AR BB QuFS FReBRY, Wed), WIS, ST
&5 RT3 SOOI ROED PoERTIRRL,. A’ W O3RRTTTTR
Ehstental m@madoioe ?

UNIT = IV

Q. No. 4. a) What is criminal misappropriation of propert

4005

Marks : 6

y ? How does it differ from

criminal breach of trust ? Marks : 10
2383 BTo08 BOVFVSRER 0T3O ? 933 03RE 0630 :
9T Jo0NT cir_a)eaét:}oé zpz\imﬁd?
OR
Q. No. 4. a) Explain cheating. When does it became cheating by
personation ? Marks : 10
Sor3Fodm) FORD. BT odnaont RBRWFE ey
B3RO TS ?
Q. No. 4. b) ‘A’ cuts down a tree on ‘B’ s land dishonestly without ‘B’s
' Marks : 6

consent. Decide the offence of ‘A’s.
‘B'o® ejabaﬁ%oa)eg,d e@dméﬁaaﬁ ‘A o3 ‘B'od -zjraaaa@@;bd
RO saoiozS. A’ RNPRTID wdoac;ﬁd&q ST IND.

OR

Q. No. 4. b) ‘A’ took away an unmarried girl who was under — 16 years out
of custody and against the will of her father. Decide what type
of offence ‘A’ committed ? Give reasons.

A oo 16 IRFSRING LTI TBNODRS, ek oxedd

aaij &)docémn 533 T30 iraociraomgagd ‘A'odd O30
cafoplela @woadd&q a&m@mo&"? 500 BRB.

Marks : 6
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UNIT -V
Q. No. 5. a) What is defamation ? Explain its ingredients. Marks : 10
RNRITOR 0BT ? 333 eﬁdzgs'o’ waﬁrﬁeﬁg’% QOXD.

OR

Q. No. 5. a) Explain the essentials of “criminal trespass and house

trespass’. | Marks : 10
CTOIRB B8FR0e0 ) R{FIFID 0T 3 L0BNI,
QDTORO.

BYg

Q. No. 5. b) ‘A’ breaks open a box to steal some jewels. After opening the
box he finds that there are no jewels in it. What is ‘A’ s liability ? Marks : 6
‘A D Fog t‘ﬁ?p’dfaﬁ%ﬁﬁi 39 BRI PTBOOT 2,000 eSO
S Sblelavicielevebroi] a”%ﬁcdasig‘ 300 03T T3 SL3TEVTI
A D rmd. ‘A3 BeRBmoioha) AFFORD.

OR

Q. No. 5. b) Write a short notes on ‘Bigamy’. ' Marks : 6

0,583,/ BTV Wi OO 3T WSO,
S dd 3 = YT =

(¥ Scanned with OKEN Scanner



